R#TFAL #FH HE o1

ROGIRZEERBOHPE T K. BB E T2, (SHh30%, Afk45®, B#13 108, CHh1350% )

(1) 3i+5i (2)  (3+2i)—(7—30)
(3)  3ix5i 4)  (2+9)(2-1)
(5) V=32++/-8 6)  V—2x+/-18
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2.

ROFHRAZEFEBOFHTE L. (BB L T2, (SHk328, A0, Bik13 158, C#247)
(1) 7i—6i (2 (5—9i) — (6 — 8)
(3)  6ix3i (4) (34 4i)(3 —4)
(5) /=45 —+/—125 (6) —v/=3x+/—48
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RETAN BFH HE 01 BERS

ROGIRZEERBOHPE T K. BB E T2, (SHh30%, Afk45®, B#13 108, CHh1350% )

* BHOHE 0, b2HEBETELE, ROGEDVRLT 5.

(a4+bi) £ (c+di) =(atc)+ (bEd)i
Y d V-1=i ELToEHETS L.

(1) 3i+5i

= (3+5)i

=8¢

(3)  3ix5bi

=3x5xi?

=15

(5) =32+ /-8

= 4V/2i + 2V/2i
= (4v2 + 2V/2)i
=6+/2i

(3 + 2i) — (7 — 3i)

=3+ -7+ 3
=(3-7)+(2+3)i

=—4+4 52

(2+)(2—1)

V=2 x /=18

=/2i x 3v/2i

——6

SeAS IR

V=2 x /=18 = /(-2) x (—18) = /36 = 6
ELTEVITF RV, FIET 5.

2%h (VEI)’ = -1 Th B,

(V=1)* = V/(1)2 Tik %L,

WEBOHPHTIX, ax Vb= Vab ZRETLTH 3.
V-l=1i 2mEhTsl L.
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ROGREZEEROTWIECTE X, (IBEHAMET 2. (SH32F, A0, Bk13 158, C#2)

(1) 7i—6i (2 (5-9i) — (6 —8i)
= (7—-6)i =5-9i—6+8i
=3 =(5-6)+{(-9) +8}i

=—1—14

(3)  6ix3i (4) (34 4i)(3 —4)
=6 x 3 x 42 =3 — (4)?
=—18 =9 —(—16)

=25

(5) /=45 —+/—125 (6) —v/=3x+/—48
= 3v/5i — 5v/5i = —/3i x 4V/3i
= (3v5 — 5V5)i =12
= —2v5¢
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